
Break Beam
Transmitter
BBT-4000

USER GUIDE

www.dakotaalert.com

Dakota Alert®
WIRELESS SECURITY EQUIPMENT

TM

This BBT-4000 Break Beam Transmitter sends a signal to your DCR-4000 receiver when it detects 
moving objects, such as people and vehicles. Connect multiple break beam transmitters (or 
other transmitters) to your receiver to create a complete security system.

BBT-4000_19-0041_MAN.indd   1BBT-4000_19-0041_MAN.indd   1 2/4/2019   9:47:01 AM2/4/2019   9:47:01 AM



2

PACKAGE CONTENTS
• Break Beam Transmitter (2 sensors)
• Mounting hardware

 » Right-angle brackets (4)
 » Cross brackets (4)
 » U-shaped brackets (4)
 » M4 × 12 mm bolts (8)   
 » M5 × 18 mm bolts (8)  
 » M5 × 27 mm bolts (8)  
 » M4 nuts (8)  
 » M5 nuts (16)  

• User Guide
Tools needed
• Phillips screwdriver
• Adjustable wrench

SETTING UP YOUR BREAK BEAM DETECTOR
1. Pair the sensors to each other. See “Pairing the sensors” on page 3.
2. Select a tune and code the break beam transmitter to your receiver. See “Coding your 

receiver” on page 4.
3. Mount the sensor units. See “Mounting your sensors” on page 5.

 

 PAIRING
1. Place s

windo

2. Press t
button
in plac

3. Test th
the ind

 

Power 

Re

Power 
on se

BBT-4000_19-0041_MAN.indd   2BBT-4000_19-0041_MAN.indd   2 2/4/2019   9:47:06 AM2/4/2019   9:47:06 AM



3

ur 

 PAIRING THE SENSORS
1. Place sensors A and B on a fl at surface, 6–12 inches (15.2–30.5 cm) apart, with the three IR 

windows on the sides of the sensors facing each other.

A

B

2. Press the power button on sensor A until the button lights solid red, then press the power 
button on sensor B until the button lights solid red. The sensor units pair. Leave the sensors 
in place until both power button lights turn off  (about one minute).

B

3. Test the transmitter by completely blocking all three IR windows. You should hear a click and 
the indicator light in the center window of sensor A lights. 

 

Power button Power button

Red plug Red plug 

6–12 in. 
(15.2–30.5 cm)

IR windows

Level

Solar panels

Power button
on sensor A

Power button
on sensor B

BBT-4000_19-0041_MAN.indd   3BBT-4000_19-0041_MAN.indd   3 2/4/2019   9:47:07 AM2/4/2019   9:47:07 AM



4

 CODING YOUR RECEIVER
Note: You can connect up to 16 transmitters to your receiver.
1. Place your receiver and the break beam transmitter near each other. 

Note: Sensor unit A contains the radio transmitter.
2. Press and hold the MODE and  (volume) buttons for three seconds. When all four lights 

fl ash, release the buttons.
3. Press  (volume) repeatedly until you fi nd the tune you want to use.

1 Ding Dong (high) 5 Alarm/Siren 9 William Tell

2 Ding Dong (low) 6 Coo Coo Clock 10 Canon in D

3 Westminster 7 Bird Chirping 11 Morning

4 Fur Elise 8 Twinkle Twinkle 12 Toreador March

4. After you choose a tune, block a sensor’s IR windows to activate the transmitter. The receiver 
emits a short beep.

5. If you are coding more than one transmitter, repeat steps 3 and 4.
6. After your transmitter(s) are coded, press and hold the MODE button until the LEDs stop 

fl ashing.
7. To test the tune, block a sensor’s IR windows. You’ll hear the selected tune through your 

receiver and the lights will fl ash.

 

Block a sensor’s IR windows with 
cardboard or other solid object

 MOUNT
Before you
• The re

small a
• The se
• Moun

the be

Circular p
1. Attach

bolts. 

2. Attach
and fo

3. Moun
and fo
windo
Note: I

4. Moun
M5 × 2
windo
Note: W

M5 ×

U-sh

BBT-4000_19-0041_MAN.indd   4BBT-4000_19-0041_MAN.indd   4 2/4/2019   9:47:07 AM2/4/2019   9:47:07 AM



5

lights 

e receiver 

 stop 

your 

ws with 
bject

 MOUNTING YOUR SENSORS
Before you mount, choose a mounting location:
• The recommended mounting height is 3 feet (0.9 m). This will help avoid false alerts from 

small animals crossing under the beam but still detect people and vehicles.
• The sensors can be mounted up to 300 ft. (91.4 m) apart. 
• Mount the sensors on a stable surface. Do not install where trees or other objects can block 

the beam. 

Circular post mounting
1. Attach the right-angle bracket to the cross bracket using two M4 nuts and two M4 × 12 mm 

bolts. Repeat for all brackets.

2. Attach a right-angle bracket to the top and bottom of each sensor unit using four M5 nuts 
and four M5 × 18 mm bolts.

3. Mount sensor unit B fi rst, attaching it to a post with two U-shaped brackets, four M5 nuts, 
and four M5 × 27 mm bolts. Tighten securely, making sure that the sensor is level and the IR 
windows are facing toward where you will mount sensor unit A.
Note: If the U-shaped bracket doesn’t fi t your post, use a vise to bend it to the correct shape.

4. Mount sensor unit A to a post with two U-shaped brackets, four M5 nuts, and four                 
M5 × 27 mm bolts. Tighten securely, making sure that the sensor is level and that the IR 
windows are facing toward sensor unit B.
Note: When the sensor units align, sensor unit A’s indicator light blinks.

Right-angle bracket

M4 nuts

Cross bracket

M4 × 12 mm 
bolts

M5 nuts

M5 × 18 mm 
bolts

M5 × 27 mm
 bolts

M5 nuts
U-shaped brackets

BBT-4000_19-0041_MAN.indd   5BBT-4000_19-0041_MAN.indd   5 2/4/2019   9:47:08 AM2/4/2019   9:47:08 AM



6

5. Test your break beam transmitter to make sure that the sensors are aligned:
 » Cover only the top two windows – the sensor should not alert. If it does, raise the sensor 

about an inch.
 » Cover only the bottom two windows – the sensor should not alert. If it does, lower the 

sensor about an inch.
 » Cover all three windows – the unit should alert. When properly aligned, the sensors only 

alert when all three infrared holes are covered.
Note: The IR windows must be blocked for at least 0.1 seconds (100 ms). If an object passes through 
faster than that, it will not be detected.

Flat surface mounting
1. Attach a right-angle bracket to the top and bottom of each sensor using four M5 nuts and 

four M5 × 18 mm bolts.

2. Mount sensor B to a fl at surface using screws that are appropriate to your material and 
surface (not included). Make sure that the sensor is level and the IR windows are facing 
toward where you will mount sensor A. 
Tip: Use the built-in levels to help keep the sensors in-line.

3. Mount sensor A to a fl at surface. Make sure that the sensor is level and that the IR windows 
are facing toward sensor B. 

4. Test your break beam transmitter to make sure that the sensors are aligned:
 » Cover only the top two windows – the sensor should not alert. If it does, raise the sensor 

about an inch.
 » Cover only the bottom two windows – the sensor should not alert. If it does, lower the 

sensor about an inch.
 » Cover all three windows – the unit should alert. When properly aligned, the sensors only 

alert when all three infrared holes are covered.

M5 × 18 mm 
bolts

M5 nuts

RECHAR
The senso
without li
receiver:
1. Remov
2. Conne
Note: Your 

ADJUST
Press  (v
the volum

TROUB
If you are
• Make 

senso
• You m
If the tran
• Make 

4 for c
• Turn t
• Move 
• Keep t
• Make 

 »  Co
 »  Co
 »  Co

on

SPECIFI
• Power so
• Frequen
• Wireless
• Operatin
*Actual rang

TECH S
If you have 
605-356-277
your questio

SAFETY
• Only use
• Do not d
• Do not in
• Do clean

BBT-4000_19-0041_MAN.indd   6BBT-4000_19-0041_MAN.indd   6 2/4/2019   9:47:08 AM2/4/2019   9:47:08 AM



7

e sensor 

wer the 

sors only 

rough 

uts and 

and 
cing 

indows 

e sensor 

wer the 

sors only 

RECHARGING THE TRANSMITTER
The sensors automatically recharge using built-in solar panels. If using in a dark, interior space 
without light, you can recharge the sensor using the power adapter that came with your 
receiver:
1. Remove the red plug on the back of the sensor.
2. Connect a power adapter from the power jack to a power outlet.
Note: Your sensors’ batteries last 2–3 weeks without charging.

ADJUSTING THE VOLUME
Press  (volume) button repeatedly to adjust the volume (four levels and off ). The lights show 
the volume level for four seconds.

TROUBLESHOOTING 
If you are getting false alarms:
• Make sure that there are no tree branches or other obstructions blocking the sensors. If the 

sensor is continually blocked, it will send an alert every hour.
• You may receive false alerts during extreme rain, snow, or fog.
If the transmitter is not detecting:
• Make sure that the transmitter is coded to the receiver. See “Coding your receiver” on page 

4 for coding instructions.
• Turn the sensors’ power off  for 60 seconds, then turn the power back on.
• Move the transmitter closer to the receiver.
• Keep the transmitter away from large metal objects that may interfere with the radio signal.
• Make sure that the sensors are correctly aligned:

 »  Cover only the top two windows – the sensor should not alert. 
 »  Cover only the bottom two windows – the sensor should not alert. 
 »  Cover all three windows – the unit should alert. When properly aligned, the sensor unit 

only alerts when all three infrared holes are covered.

SPECIFICATIONS
• Power source:  Solar or AC adapter
• Frequency: 433.92 MHz
• Wireless range: Up to 1 mi. (1.6 km)*
• Operating temperature: -30 to 120°F (-34.4 to 48.9°C) 
*Actual range will vary depending on local terrain and obstructions.

TECH SUPPORT
If you have problems using this product after reading this manual, please contact us. You can reach us by phone at 
605-356-2772 from 8:30 AM to 5:00 PM Monday through Friday (Central Standard Time). We will be happy to answer 
your questions and help you in any way we can.

SAFETY INFORMATION
• Only use this product for the detection of moving objects such as people and vehicles.
• Do not disassemble or attempt to repair the product.
• Do not install this unit with any other infrared detector. It may cause false alarms.
• Do clean and inspect the unit regularly for proper use. If any problem is found, contact Dakota Alert, Inc.

BBT-4000_19-0041_MAN.indd   7BBT-4000_19-0041_MAN.indd   7 2/4/2019   9:47:08 AM2/4/2019   9:47:08 AM



Dakota Alert, Inc.
www.dakotaalert.com
Phone: (605) 356-2772
Fax: (605) 356-3662
Address: 32556 477th Ave.   |  P0 Box 130  |  Elk Point, SD 57025
19-0041 

Dakota Alert®
WIRELESS SECURITY EQUIPMENT

TM

WARRANTY
Dakota Alert warrants this product to be free of defects in materials and workmanship for a period of one year from 
the date of purchase. This warranty does not cover damage resulting from accident, abuse, act of God, or improper 
operation. If this product does become defective, simply return it to Dakota Alert. Please include a note describing 
the troubles along with your name and return address as well as the original sales receipt. If the product is covered 
under the warranty it will be repaired or replaced at no charge. If it is not covered by the warranty, you will be 
notifi ed of any charges before work is done.

LEGAL NOTICES
This device complies with Part 15 of the FCC Rules. Operation is subject to the following two conditions: (1) this 
device may not cause harmful interference, and (2) this device must accept any interference received, including 
interference that may cause undesired operation. Changes or modifi cations not expressly approved by the party 
responsible for compliance could void the user’s authority to operate the equipment. This equipment has been 
tested and found to comply with the limits for a Class B digital device, pursuant to Part 15 of the FCC Rules. These 
limits are designed to provide reasonable protection against harmful interference in a residential installation. This 
equipment generates, uses, and can radiate radio frequency energy and, if not installed and used in accordance 
with the instructions, may cause harmful interference to radio communications. However, there is no guarantee that 
interference will not occur in a particular installation. If this equipment does cause harmful interference to radio or 
television reception, which can be determined by turning the equipment off  and on, the user is encouraged to try 
to correct the interference by one or more of the following measures:
• Reorient or relocate the receiving antenna.
• Increase the separation between the equipment and receiver.
• Connect the equipment into an outlet on a circuit diff erent from that to which the receiver is connected.
• Consult the dealer or an experienced radio/TV technician for help.

 WARNING: Cancer and Reproductive Harm. Go to www.P65Warnings.ca.gov for more information.

BBT-4000_19-0041_MAN.indd   8BBT-4000_19-0041_MAN.indd   8 2/4/2019   9:47:08 AM2/4/2019   9:47:08 AM



<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Error
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /CMYK
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments true
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /CreateJDFFile false
  /Description <<

    /BGR <>
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000410064006f006200650020005000440046002065876863900275284e8e9ad88d2891cf76845370524d53705237300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef69069752865bc9ad854c18cea76845370524d5370523786557406300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /CZE <>
    /DAN <>
    /DEU <>
    /ESP <>
    /ETI <>
    /FRA <>
    /GRE <>

    /HRV (Za stvaranje Adobe PDF dokumenata najpogodnijih za visokokvalitetni ispis prije tiskanja koristite ove postavke.  Stvoreni PDF dokumenti mogu se otvoriti Acrobat i Adobe Reader 5.0 i kasnijim verzijama.)
    /HUN <>
    /ITA <>
    /JPN <FEFF9ad854c18cea306a30d730ea30d730ec30b951fa529b7528002000410064006f0062006500200050004400460020658766f8306e4f5c6210306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103055308c305f0020005000440046002030d530a130a430eb306f3001004100630072006f0062006100740020304a30883073002000410064006f00620065002000520065006100640065007200200035002e003000204ee5964d3067958b304f30533068304c3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020ace0d488c9c80020c2dcd5d80020c778c1c4c5d00020ac00c7a50020c801d569d55c002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /LTH <>
    /LVI <>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken die zijn geoptimaliseerd voor prepress-afdrukken van hoge kwaliteit. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /POL <>
    /PTB <>
    /RUM <>
    /RUS <>
    /SKY <>
    /SLV <>
    /SUO <>
    /SVE <>
    /TUR <>
    /UKR <>
    /ENU (Use these settings to create Adobe PDF documents best suited for high-quality prepress printing.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /ConvertToCMYK
      /DestinationProfileName ()
      /DestinationProfileSelector /DocumentCMYK
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure false
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles false
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /DocumentCMYK
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /UseDocumentProfile
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


